4k /) L{, L f’ c]

—\,,__“__/L'c"

Stoichiometry Test Practice //"
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1. ACetho + [0, [ €O, + O H0
a) If 1 do this reaction with 35 grarr)s of %sHm and 45 gram?iof oxygen, how many grams of carppn d:omde will
be formed? I54 o ~—'39~L—“’”'”- Ly Jemedls €O, Y4014 Cos. ,_
} v yr,?-}(pg(frﬂf(? -Q,mols CuHeo X H‘nol('n) /79, /%?J(o)
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b) Whatisthe |lr'?1|tlng reagentn?or part {a)?

OXL(()’Q(*O /s ‘/[1(’. //.I%t"fjkgj /('1/?(/'!’”'/ éé{’/}(/\s'(’ 1t

o

O dw> ()/}/ prodice 9. 57 (02, Theoceheall. P Jhes
rLbelion Mr// b{ (’/r/ /JJ’ (ﬁ'?f} ﬁi)).

c) If 35 grams of carbon dioxide are actualiyformed from the redction in part (a), what is the percent yield of

this reaction? / Actial m!(f 0 35 ('()L _ - ..
e % 1009, L 50 15%
-}—heomimg (jm /J (z/g o }2 C'O )X/()Dé 50, 15

2. Ethylene (CzH4) burns in oxygen to form carbon dioxide and water vapor.

a) Write the balanced chemical equation for this reaction below. ‘/\
LOaHy + 300 — 200, + 2Ha0

b) How many liters of water can be formed if 1.25 liters of ethylene are consumed in this reaction? 4
* 3- 3{5{) Convefsion (’)(J,'(““ T'we Usked tjo from. litees p€ one O :m‘dmm D

hiters of o a‘,p-mmf diffecent domPound

LASL oty x o0l Catla_y Zoncls Hid 22,4 L Ha0 u—/oz 54 o{‘ h o)
22,41 Carly T mol Cotty | mol HiD o e

3. a) Balance the following equation:
_ Pb(SOs)2+ 4 LiNO3> _ Pb(NOs)s + L Li;SO4

b) How many moles o Ilthlum mtra?j\mll be needed to make 40 moles of lithium sulfate, assuming that you
have an adequate amount of lead (IV) sulfate to do the reaction?

Y0 moles '{bz SO‘/ Z.‘}_’“]/('S Zﬁ”UOd = gO moles /__LUO.K

moles Lo SO¢
c) How many moles of lead(IV) nitrate are produced if 25 moles of lithium sulfate are produced?

L5 moles Ly S Dy x l_’_’f!_'?”""___ %(’.‘,’t?f)f_{__ )
2 moles Lia SOy
d) How many moles of lithium nitrate are needed to react completely with 5.9 moles of lead(IV) sulfate?

= /2.5 moles Pb («JQ;,:)?

3.9 moles Pb(se A moles Liwtg . _ s
oles b? / mole Pb/ﬂ)qb; A8, b moles Litlh3



4. a) Write the balanced equation for the reaction of acetic acid with aluminum hydroxide to form water and

B0 a0 + Al om)s > AL Cola0)3 + S HaO

b) Using the equation from part (a), determine the mass of aluminum acetate that can be made if | do this
reaction with 125 grams-of acetic acid and 275 grams ?f alum;n)um hydroxide.

aluminum acetate:

Jos o« Cata0at < 1ol CrisOn bl lmel AL(CEHZ0 204,139 Aeltrthi0n)s o, 45
3 A Cah’&b.‘u’f 3 mols CLHIOLY Ttwol A2 0 ts 0 /”22 ((‘2}:}/02’)3
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c) What'is the limiting reazgnt it 48, g5y | Mo Accondy Vol A0 (02H302)3 = U o
AL (c.z?/aoz\g

AC’Q.?:')'(L &L’.c...'a/ /6%%/302/«/) ;'.5 Fhe /,',M;/,',U repsent s

Theoretiesily | This reaatiors Wil Gicld 190,859 of whminam acetate
5. a) Balance this equation and state which of the six types of reaction is taking place:

L Mg+ ) HNOs> [ mginoa+ 1w,

Type of reaction: @LMZ?)!Q cﬁﬁﬁ/ﬁmmmﬁ»

b} I I start this reaction with 40 grams of magnesium and an excess of nitric acid, how many grams of hydrogen
gas will | produce?

Il !4’? mol ﬁ/mv 2,0 Hr
40 ¢ ; Amel g / x Sblyt -3.313_Hz.
’/3/2{ h/\p/ Mg/ o 1
¢} If 1.7 grams of hydrogen is actually produced, what was my percent yield of hydrogen?
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Practice Test 2
6. a) Balance this equation and state what type of reaction is taking place:

, NaHCO; » ‘ NaCOH + \ O,

Type of reaction: rh e Mp0S hon)

b} If 25 grams of carbon dioxide gas is produced in this reaction, how many grams of sodium hydroxide shouid
be produced?
9\5%_(;09\ y {mok Coo IMoff AJ@Q_»_! You "/4‘9” :.:
4, 0/& D | mole (O I mole e OH

za,?xa AROH

¢} if 50 grams of sodium hydroxide are actually produced, what was my percent yield?
50 This IS the Correct oamsiser, TH Jou
(:w 22, ) K100 =220 / eved Calcaleted this dubivg o
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7. Calcium carbonate decomposes at high temperatures to fcﬁ? arbon oxsde and calcium oxide:

a) Write the balanced chemical equation for this reaction below.
Lo C03—— (0at (a0

b) How many grams of calcium carbonate will | need to form 3.45 liters of carbon dioxide?

45 1 Cos, X wiﬁﬁlﬁ“ﬁg}ww | mole CaCO3 /00,09 4 Cet03_ "
224 L 002 [ole €07, T ol 04003 154 4 Calls




8. Using the following equation:

How many grams of sodium sulfate will be formed if you start with 200 grams of sodium hydroxide and you have
an excess of sulfuric acid?

o Neot x| mole NaOH o I, ole Mia 804 /42,05 gMeLSOy . 7 1
mg 1%05‘ Ala OH . & ioles AdaOH [rnole f\]az,‘SOL‘ j{) *:U/«S %}
AM@SOq

9. Chiorine is used by textile manufacturers to bleach cloth. Excess chlorine is destroyed by its reaction with sodium
thiosulfate, Na;$:0s:

Na35:0302q) + 4Clag) + 5Ha0aqy = 2NaHSOujaq) + 8HC gy

a. How many moles of Na;5,03 are needed to react with 0.12mol of Cl;?
O d.mols 2y v ! mot Ao 52 Ox
h Ymols (4

0.08 mols fuﬂa.f:@. O3

b. How many moles of HCl can form from 0.12mol of Cl?
O mols 2 % L mels HOL = O.24 mels Mot
Y mels (02

¢.  How many moles of H;0 are required for the reaction of 0.12mol of Cl;?

O./-’Lmo/us 7 % KM”I‘S«W&&*““Q" = O, /5 mols H20

[ERp—S—_

4 mols C4o.

d. How many moles of H;0 react if 0.24mol HCl is formed?

0.9 4 mols tee x 5 mels HaO o e jits Hotd
§ mels Hee

10. The incandescent white of a fireworks display is caused by the reaction of phosphorous with Oz to give P4Oxo.
a.  Write the balanced chemical equation for the reaction.

YP + S0 —7 p&f@/@

b. How many grams of O, are needed to combine with 6.85g of P?
ZO-RS“J Py JMMX § maoles Oy 32 4 O
3o, W‘g 2 4 toles P I mele O

= €, ¢5
%O;

c.  How many grams of P40 can be made from 8.00g of 0,7

.00 Ox x tmele O o I mole F4Op. 293884 Puli . ) |
‘ X X = 4,19
B 32 Y O 8 mebs Do l el Py O?f; /P @5’
0

d. How many grams of P are needed to make 7.46g P4O1o?

Yoo PuDo 1 mole PyOo Hmoles P o 20,094 P
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